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Subtraction (Horizontal) Name:
Solve each problem. Answers
1
D 741 - 2 =
2.
2 5,496 - 2 = 3
4,
3 4,704 - 963 =
5.
4 9,453 - 42 = 6.
7.
5 8,774 - 7,247 = g
9.
6) 89 - 4 =
10.
7) 206 - 97 = 11,
12.
8 7,883 - 804 =
9 230 - 31 =
100 84 - 83 =
11) 55 - 2 =
12) 6,193 - 91 =
1-10 | 9283 75|67 [58[50] 4233|2517 |
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Subtraction (Horizontal) Name: Answer Key
Solve each problem. Answers
1 739
) 741 - 2 = 739
> 5,494
2) 5,496 - 2 = 5,494 3 3,741
4 0,411
3 4,704 - 963 = 3,741
5. 1,527
4 9,453 - 42 = 9,411 6. 85
7 109
5 8,774 - 7,247 = 1,527 . 7079
0 199
6) 89 - 4 = 85
10 1
7) 206 - 97 = 109 11, 53
2. 6,102
8 7,883 - 804 = 7,079
9 230 - 31 = 199
10) 84 - 83 = 1
11) 55 - 2 = 53
12) 6,193 - 91 = 6,102
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C:# Subtraction (Horizontal)

Name:

Solve each problem.

Answers

199 1 739 85 109
3,741 1,527 9,411 5,494 7,079 1
2,
1) 741 - 2 =
3.
4.
2 5,496 - 2 =
5.
3 4,704 - 963 = 6.
7.
4) 9,453 - 42 = 8.
9.
5 8,774 - 7,247 = 10.
6) 89 - 4 =
) 206 - 97 =
8 7,883 - 804 =
9 230 - 31 =
10) 84 - 83 =
M odified 1-10 90|80 70|60 |50]40]30]20[10] O |
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